Problem Definition

Problem 55. Compute the derivative of the function.

y=zV22zr+3

Solution Step 1:

The function can be rewritten to allow an easier application of our dif-
ferentiation rules.

y=12v2x +3 =z(2z+3)*

Solution Step 2:

The derivative will be computed using the product rules followed by an
application of the generalized power rule on the square root factor in the
function on the factors to start the process. The intermediate result of our
work is the following.
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which is the solution given in the book.



